Adjusting Entries قيود التسوية
In order for a hospital (company), to record revenues in the periods in which it earns them, and to recognize expenses in the period in which it incurs them, hospital makes adjusting entries at the ending of the accounting period. In short, the adjustment entries fulfill both, revenue recognition and matching principles.

لكي يتمكن المستشفى (الشركة) من تسجيل الايرادات للفترة التي تم اكتسابها بها، والاعتراف بالمصاريف التي حدثت لنفس الفترة، تقوم المستشفى بعمل قيود التسوية في نهاية الفترة المحاسبية. اي وباختصار فان قيود التسوية تعمل لتطبيق والاتزام بمبدئي المحاسبة الاعتراف بالايراد والمقابلة.

Type of adjusting entries: انواع قيود التسوية
A- Prepayments المدفوع مقدما
1- Prepaid expenses المصاريف المدفوعة مقدما
2- Unearned revenues الايرادات غير المستحقة
B- Accruals المستحق
1- Accrued revenues الايرادات المستحقة
2- Accrued expenses المصاريف المستحقة
A- Prepayments المدفوع مقدما
1- Prepaid expenses المصاريف المدفوعة مقدما
Prepaid expenses mean those expenses that has been paid in cash and recorded as assets before they are used or consumed.

المصاريف المدفوعة مقدما تعني تلك المصاريف التي تم دفعها وتم تسجيلها كأصول قبل تمام عملية استخدامها او اهلاكها.

Example of Supplies: مثال على اللوازم
Assume on 1/4/2006 a hospital purchased office supplies for 3000 JD, at 31/12/2006 an inventory count reveals that 1200 JD of office supplies are still on hand.
افترض بانه في 1/4/2006 قام المستشفى بشراء لوازم مكتبية بقيمة 3000 دينار، وظهر في 31/12/2006 بان ما قيمته 1200 دينار من اللوازم لم تستعمل (موجودة بالمخزن)

Journal entry at 1/4/2006

Office supplies A/C         3000



Bank A/C

3000

Adjustment entry at 31/12/2006

Office supplies exp. A/C
1800



Office supplies
1800
Note: the hospital handled office supplies as an asset, at the end of the period (3000-1200=1800) revels that 1800 was expensed (used) during the year

ملاحظة:  اعتبر المستشفى اللوازم المكتبية بأنها اصل، وفي نهاية العام (3000-1200=1800) بينت بأن مبلغ 1800 دينار تم صرفه فعلا خلال العام
Example of Insurance مثال على التأمين
Assume on 1/3/2006 the hospital paid 6000 JD for two-years, what is the adjusting entry should be done at 31/12/2006.

Journal entry at 1/3/2006

Prepaid Insurance A/C
6000



Bank A/C


6000

Adjustment entry at 31/12/2006

Insurance Exp. A/C 
2500


Prepaid insurance A/C
2500

Note: the accountant calculated the insurance expenses related to year 2006 (6000*10/24=2500), it means only 10 months are expensed out of 24 months.

ملاحظة: لقد قام المحاسب باحتساب مصروف التامين الخاص بعام 2006 (6000*10/24) اي اثبت مصروف عشر شهور من اصل المبلغ المدفوع لـ 24 شهر

Depreciation of plant assets اهتلاك الاصول الثابتة

Depreciation is a mean of cost allocation, it is the accounting process of allocating the cost of tangible assets to expense in a systematic and rational manner to those periods expected to benefit from the use of the assets.
الاهتلاك هو اداة لتوزيع التكلفة، اي هي الية اتوزيع تكلفة الاصل الملموس كمصروف من خلال الية عقلانية منظمة على الفترات المتوقعة ان يخدم بها الاصل.

Since its not possible to know the market value of the asset during the time we are using it, and to disclose it in the balance sheet in a reliable and relevance way; the accountant create a contra asst account called accumulated depreciation A/c, which will be reveled in the balance sheet, and deducting its balance from the hysterical cost balance of the asset; so we can drive out the book value of the asset, which can be closer to market or fair value.

بما انه ليس من السهل معرفة القيمة السوقية للاصل خلال استخدامنا له، وللافصاح عنه بالميزانية بشكل موثوق وملائم، فان المحاسب ينشيء حساب اصل مقابل يسمى مجمع الاهتلاك الذي يتم اظهاره بالميزانية، وينقص رصيده من رصيد حساب تكلفة الاصل التاريخية، وبذلك نتمكن من معرفة قيمة الاصل الدفترية التي قد تكون اقرب لسعره بالسوق او لقيمته العادلة.

Example of depreciation adjusting entry and disclosure مثال على قيد تسوية الاهتلاك والافصاح 
Assume a company has X-ray machine (cost 15000 JD), at 31/12/2006 the accountant decided that 3000 of the cost should be expensed for 2006.

Adjustment entry at 31/12/2006

Depreciation Exp. (X-ray)A/C

3000



Accumulated depreciation (X-ray) A/C
3000

Balance sheet at 31/12/2006

	Assets
	Liabilities

	X-ray                                              15000

Accumulated depreciation (X-ray)    (3000)
           Book value                                    12000
	


Methods of depreciation طرق الاهتلاك
The profession requires that the depreciation methods employed should be "systematic and rational." It means that we must chose that method which work accordance with the type of use of the asset. We must be neutral.

المهنية تتطلب اختيار طريقة اهتلاك يتوفر بها "التنظيم والعقلانية." اي يجب ان نختار الطريقة التي تتماشى مع طبيعة استخدام الاصل. يجب ان نكون حيادين.
The main depreciation methods are:

I. Straight-line method (SLN) طريقة القسط الثابت
II. Sum-of-the-years'-digits (SYD) مجموع سنوات الاستخدام
III. Declining-balance method (DDB) القسط المتضاعف المتناقص
I- Straight-line method (SLN) طريقة القسط الثابت
Assume a hospital purchased X-ray machine on 1/1/2002 for cost (C) 10500 JD, its estimated useful life (L) 5 years, and estimated salvage value (S) 500 JD. The hospital decided to use SLN in depreciation.
	depreciation rate =
	100%

	
	Life (L)

	depreciation rate =
	100%
	= 20%

	
	5
	


Depreciation charge = Depreciation rate x Depreciation base

Depreciation charge = Depreciation rate x (cost (c) – Salvage (s))




  = 20% x (10500 – 500)




  = 20% x 10000




  = 2000 JD

OR 

	depreciation charge =
	C - S

	
	L

	depreciation charge =
	10500 - 500
	= 2000

	
	5
	





Depreciation table
	year
	depreciation charges
	Accumulated depreciation
	Book value

	2002
	2000
	2000
	8500

	2003
	2000
	4000
	6500

	2004
	2000
	6000
	4500

	2005
	2000
	8000
	2500

	2006
	2000
	10000
	500

	
	10000
	(cost – salvage)


Note: At the end of every financial year, the accountant must pass the depreciation adjustment entry.
Adjustment entry 31/12/2002

Depreciation Exp. (X-ray)A/C

2000



Accumulated depreciation (X-ray) A/C
2000

II- Sum-of-the-years'-digits (SYD) مجموع سنوات الاستخدام
Assume a hospital purchased X-ray machine on 1/1/2002 for cost (C) 10500 JD, its estimated useful life (L) 5 years, and estimated salvage value (S) 500 JD. The hospital decided to use SYD in depreciation.

Years digits = 1+2+3+4+5 = 15

	depreciation charge =
	(cost - salvage) x
	Remaining life

	
	
	Years digits


	year
	
	depreciation charges
	Accumulated depreciation
	Book value

	2002
	depreciation charge =
	10000 x
	5
	= 3333
	3333
	7167

	
	
	
	15
	
	
	

	2003
	depreciation charge =
	10000 x
	4
	= 2667
	6000
	4500

	
	
	
	15
	
	
	

	2004
	depreciation charge =
	10000 x
	3
	= 2000
	8000
	2500

	
	
	
	15
	
	
	

	2005
	depreciation charge =
	10000 x
	2
	= 1333
	9333
	1167

	
	
	
	15
	
	
	

	2005
	depreciation charge =
	10000 x
	1
	= 667
	10000
	500

	
	
	
	15
	
	
	

	
	
	
	
	10000
	(cost – salvage)


III- Declining-balance method (DDB) القسط المتضاعف المتناقص
Assume a hospital purchased X-ray machine on 1/1/2002 for cost (C) 10500 JD, its estimated useful life (L) 5 years, and estimated salvage value (S) 500 JD. The hospital decided to use DDB in depreciation.

Depreciation rate = SLN rate x 2

	depreciation rate =
	100%
	x 2 = 40%

	
	5
	


Note: Depreciation base in this method is the cost of the asset.

	year
	
	
	depreciation charges
	Accumulated depreciation
	Book value

	2002
	10500
	x 40%
	= 4200
	4200
	6300

	
	(4200)
	
	
	
	

	2003
	6300
	x 40%
	= 2520
	6720
	3780

	
	(2520)
	
	
	
	

	2004
	3780
	x 40%
	= 1512
	8232
	2268

	
	(1512)
	
	
	
	

	2005
	2268
	x 40%
	= 907
	9139
	1361

	
	(907)
	
	
	
	

	2006
	1361
	
	861
	1000
	500

	
	
	
	
	
	

	
	
	
	10000
	(cost – salvage)


Final year dep. = (cost-salvage – accumulated depreciation at the end of the year before last)
        = (10500 – 500 – 9139) = 861
2- Unearned revenues الايرادات غير المستحقة
Unearned revenues means, revenues received in cash and recorded as liabilities before a company earns them.

الايرادات غير المستحقة هي الايرادات التي استلمتها الشركة نقدا وسجلتها كالتزامات قبل ان تكتسبها فعليا.

Assume on 1/5/2006 a hospital received 12000 JD cash from Mr. Jihad for twelve months medical check up fees.

Journal entry at 1/5/2006

Bank A/C

12000



Unearned medical revenue A/C

12000

Adjustment entry at 31/12/2006

Unearned medical revenue A/C 
7000



Medical revenue A/C


7000 (7 months revenue)
B- Accruals المستحق
1- Accrued revenues الايرادات المستحقة
Accrued revenues mean, revenues earned but not yet received in cash or recorded. Its known as sales or rendering services on account
الايرادات المستحقة تعني الايرادات التي تم اكتسابها ولكن لم تقبض نقدا بعد او لم تسجل، والمتعارف عليها ايضا بالمبيعات او تأدية الخدمات الاجلة.
Assume on 1/9/2006 the hospital treated a patient who is fully insured by the Arabic insurance company, and billed the insurance company for 2300 JD.
This kind of entry should be recorded, as soon as service is rendered.

Accounts receivable A/C
2300



Medical revenue A/C
2300
2- Accrued expenses المصاريف المستحقة
Accrued expenses mean, expenses incurred but not yet paid in cash or recorded.

المصاريف المستحقة تعني تلك المصاريف التي استحقت ولكن لم تدفع نقدا او لم تسجل.

Examples:
Salaries due but not paid: الرواتب المستحقة والتي لم تدفع
Assume on 31/12/2006 a salary of 9000 JD is due but not paid.

Salary exp. A/C

9000



Salary payable A/C 
9000

Bad debts: الديون المعدومة
Assume the account receivable (insurance companies) balance at 31/12/2006 80000 JD, the hospital as per its experience estimates that 5% of the receivables will not be collectable:

Note: the hospital is estimating the 5% (conservatism), but the actual balance of accounts receivables will remain the same, and that is why the accountant will create contra asset account called Allowance for doubtful accounts A/C and revel it in the balance sheet deducting it from the receivables.

 افترض بان رصيد المدينون (شركات التأمين) في 31/12/2006 بلغ 80000 دينار، ويقدر المستشفى وبناء على خبرته السابقة بأن 5% من المدينون لن يسددوا المبالغ المستحقة عليهم.
ملاحظة: رغم ان المستشفى يقدر الـ 5% (انطلاقا من محدد الحيطة والحذر) الا ان رصيد المدينون يبقى كما هو، ولهذا يقوم المحاسب بانشاء حساب اصل مقابل يسميه حساب الديون المشكوك فيها ويظهره في الميزانية خاصما اياه من المدينون.
Adjusting entry at 31/12/2006

Bad debts exp. A/C
4000



Allowance for doubtful accounts A/C
4000

Balance sheet at 31/12/2006

	Assets
	Liabilities

	Accounts receivables (Ins. Co.)        80000

Allowance for doubtful accounts     (4000)      76000

   
	


PAGE  
3

